--> load (gcdex) $ load ( grobner) $

-—> /*:::::::::: subroutinel */
> /*

UTFEHETEROZ T TIL—F>7FOT 5 A

fELVA

A: WpEKRDTIEVIT
Const: KFEZHRELTWVWB U X+

FIZIE Const:[ [v,gv[0]],[a[1],B[1]]] & &
gv[0]: B/NBIER ZTHv
B[1]: AN 3Mall1AE T ERARER

B{&B9ICIE  Const:[[v,v 8-vA6+vA4-yA2+1],[a[1],a[1]72-5/4]]$

Y/

> Inverse (A, Const ) : = block (
[Nconst,vn,Tn,rwn,rpn],

Nconst : length ( Const ),
vn : Nconst,

varL:[],

maxpL:[],

Tn:1,
fori: 1 thru Nconst do (

con:Const[i],

y[i]l:con[1],varL:endcons(y[i],varlL),

D[i]:con[2],

pw[i]:hipow (D[i],y[i]),maxpL:endcons(pw[i],maxpL),Tn:Tn*pw/[i]

),
[ BEOXRBOMBEAEHLE

Tn:  pw[l]*pw[2]*pw[3] 2*3*2=12
pwL: EEXHOHEAEHLED Xk
[[0,0,01,[0,0,1],[0,1,0],[0,1,1],[0,2,0],[0,2,1],



[1,0,0],[1,0,1],[1,1,0],[1,1,1],[1,2,0],[1,2,1]]

rwn: #&DIRLELC#H%ZE < #(re-wright number)
rpn: (repetition number)

BZIELEDFTIF X B x1,x2,x3]DX3DFITWS EX2FETZEAD &
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Tn  pwl[i] rwn rpr

12 =2 =6 1=Tn/(pw[1l]*rwn)

6 —+3 2 2=Tn/(pw[2]*rwn)

2 =2 1 6=Tn/(pw[3]*rwn)
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*/

pwL:[],
fori:1thruTndo (pwL:endcons([],pwL)),

rwn:Tn,
fori: 1 thru Nconst do (

rwn:rwn/pwli],
ren:Tn/(pwl[i]*rwn),
n:1,

forj:1thrurpndo (
fork:1thrupw[i]do(

form:1thrurwn do (
pwL[n]:endcons(k-1,pwL[n]),n:n+1
)
)
)

)7
baseL:[],

fori:1thruTndo (
b:1,
forj:1thruvndo (b:b*varL[j]*pwL[i][j]),
basel : endcons (b, basel )



-—->

),

coeflL : makelist (c[i],i,0,Tn-1),
F:sum (coefL[i]*baseL[i],i,1,Tn),
W:F*A,

fori: 1thruNconstdo (
W : remainder (W, Const[i][2],varL[i])
),
W : expand (W),
CeL:[],
fori:1thruTndo (
ce:W,
forj:1thruvndo (ce:coeff(ce,varL[j],pwL[i][j])),

CeL :endcons (ce, Cel)

),
CeL[1]:CeL[1]-1,
SLV:solve ( CeL, coeflL ),
IA:sum (coefL[i]*baseL[i],i,1,Tn),
IA:zev (IA,SLV)
) S

[*========== subroutine 2 */

/*
TR, RO EREES Y TIL—FTFOT 7 4

Const: K&fExZzHELTWVWB U X

Bz X Const:[ [v,gv],[a[1],B[1]]] & &

gvli]: REDODKTHEATNTVWS v DR/NZIER

B[1]: ivINT N3 a[1]h5E - T ERATER

BRMICIE  Const:[[v,vA8-vA6+vA4-vA2+1],[a[1],a[1]72-5/4]]$
*/

Reduce (A, Const) :=block (

crn : length ( Const),

fori:1thrucrndo (A:remainder (A,Const[i][2],Const[i][1])),



-—->

-->

-->

-->

[*========== main program */

fx:xA3-3*x+1;
fv:subst (x+v,x, fx);

fx1:divide (fx,x-a,x);
fx2 : divide (fx1 [1],x-B,x);
fx3 : divide (fx2[1],x-V,x);

gx:xN3-9*x-9;
gv:subst (v,x, gx);

fcx s factor (fx, gv) ; solve (fex, x) ;

Const:[]$
CurConst:cons ([v,gv], Const);

R:resultant (fv,gv,v);

cp:coeff (R, x, hipow (R, x));

R:factor (R);

ifcp<OthenR:R*(-1);
R[1]:part(R,1);R[2]:part(R,2);R[3]:part(R,3);

/* _______________________________________ */
r[0]:R[1];
r{l]:fv;r[1]:expand (r[1]);r[1]:remainder(r[1],gv,v)Sr[1l]:expand(r[1])

/* 1st step */

Dv:divide(r[0],r[1],x)S$
Dv[1]:Reduce(Dv[1],CurConst)SDv[1]:expand(Dv[1])$
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand(Dv[2])$
g[1]:Dv[1];pw:hipow(Dv[2],x)S$
ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(2]:expand (Dv[2]*irc)Sr[2]:Reduce(r[2],CurConst)Sr[2]:expand(r[2]);
cc[2]:rc;icc[2]:irc;

/* 2nd step */

Dv:divide(r[1],r[2],x)$
Dv[1]:Reduce(Dv[1],CurConst)SDv[1]:expand(Dv[1])$S
Dv[2]:Reduce (Dv[2],CurConst)SDv[2]:expand (Dv[2])$S
q[2]:Dv[1];Dv[2]:expand (Dv[2])S pw:hipow (Dv[2],x)$



ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(3]:expand (Dv[2]*irc)Sr[3]:Reduce(r[3],CurConst)Sr[3]:expand(r[3]);
cc[3]:rc;ic[3]:irc;

- /*3rd step */

Dv:divide(r[2],r[3],x)$
Dv[1]:Reduce(Dv[1],CurConst)SDv[1]:expand(Dv[1])$
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand (Dv([2])$

g[3]:Dv[1];Dv[2]:expand (Dv[2])S pw:hipow (Dv[2],x)$S
ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(4]:expand (Dv[2]*irc)Sr[4]:Reduce(r[4],CurConst)Sr[4]:expand(r[4]);
cc[4]:rc;ic[4]:irc;

z:solve (r[3],x);ansl:expand(rhs(z[1])+vV);

/* _______________________________________ */
/* _______________________________________ */
r[0]:R[2];

r{1]:fv;r[1]:expand(r[1]);

- [*1lststep */

Dv:divide(r[0],r[1],x)S$
Dv[1]:Reduce(Dv[1],CurConst)SDv[1l]:expand(Dv[1])$
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand(Dv[2])$
gq[1]:Dv[1];pw:hipow(Dv[2],x)S
ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(2]:expand (Dv[2]*irc)Sr[2]:Reduce(r[2],CurConst)Sr[2]:expand(r[2]);
cc[2]:rc;icc[2]:irc;

- /*2nd step */

Dv:divide(r[1],r[2],x)$
Dv[1]:Reduce(Dv[1],CurConst)SDv[1]:expand(Dv[1])$
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand (Dv[2])$
g[2]:Dv[1];Dv[2]:expand (Dv[2])S pw:hipow (Dv[2],x)$
ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(3]:expand (Dv[2]*irc)Sr[3]:Reduce(r[3],CurConst)Sr[3]:expand(r[3]);
cc[3]:rc;ic[3]:irc;

- /*3rd step */

Dv:divide(r[2],r[3],x)$S
Dv[1]:Reduce(Dv[1],CurConst)SDv[1l]:expand(Dv[1])$S
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand (Dv[2])$S

q[3]:Dv[1];Dv[2]:expand (Dv[2])S pw:hipow (Dv[2],x)$S



ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(4]:expand (Dv[2]*irc)Sr[4]:Reduce(r[4],CurConst)Sr[4]:expand(r[4]);
cc[4]:rc;ic[4]:irc;

> z:solve (r[3],x);ans2:expand (rhs(z[1])+V);

> /* _______________________________________ */
> /* _______________________________________ */
r[0]:R[3];

r{l]:fv;r[1]:expand(r[1]);
- [* 1ststep */

Dv:divide(r[0],r[1],x)S
Dv[1]:Reduce(Dv[1],CurConst)SDv[1l]:expand(Dv[1])$
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand (Dv[2])$
g[1]:Dv[1];pw:hipow(Dv[2],x)S$
ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(2]:expand (Dv[2]*irc)Sr[2]:Reduce(r[2],CurConst)Sr[2]:expand(r[2]);
cc[2]):rc;icc[2]:irc;

- /*2nd step */

Dv:divide(r[1],r[2],x)S
Dv[1]:Reduce(Dv[1],CurConst)SDv[1]:expand(Dv[1])$
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand (Dv[2])$S
q[2]:Dv[1];Dv[2]:expand (Dv[2])S pw:hipow (Dv[2],x)$
ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(3]:expand (Dv[2]*irc)Sr[3]:Reduce(r[3],CurConst)Sr[3]:expand(r[3]);
cc[3]:rc;ic[3]:irc;

- /*3rd step */

Dv:divide(r[2],r[3],x)$
Dv[1]:Reduce(Dv[1],CurConst)SDv[1]:expand(Dv[1])$
Dv[2]:Reduce(Dv[2],CurConst)SDv[2]:expand (Dv[2])$

g[3]:Dv[1];Dv[2]:expand (Dv[2])S pw:hipow (Dv[2],x)$S
ifDv[2]=0thenrc:1lelserc:coeff(Dv[2],x,pw)Sirc:Inverse(rc,CurConst)$
r(4]:expand (Dv[2]*irc)Sr[4]:Reduce(r[4],CurConst)Sr[4]:expand(r[4]);
cc[4]:rc;ic[4]:irc;

> z:solve (r[3],x);ans3:expand (rhs(z[1])+V);
--> [*ansl,ans2,ans3H'&IEMIIC & R (factor(fx,gv)) L —E L TWBHRTH3*/
--> ansl;ans2;ans3;

--> cx:factor (fx, gv) S expand ( solve (fcx, x) ) ;



> DB L TR LCER R >IN TOKY/

--> Ql:matrix ([ql,c2],[1,0]);iQl:matrix([0,c2],[1,-ql]);
Q2:matrix([g2,c3],[1,0]);iQ2:matrix([0,c3],[1,-92]);
Q3:matrix([g3,c4],[1,0]);iQ3:matrix([0,c4],[1,-93]);

-> Qm:Q1.0Q2.Q3;
iQm:iQ3.iQ2.iQ1;iQm:iQm/(c2*c3*c4);iQm:expand (iQm);

> T:Qm.iQm;T:expand (T);
> vrO:[rO,rl];vrl:[rl,r2];v2:[r2,r3];vr3:[r3,r4];
> [*r4=0THBDT. rADERMETILEH THRBERL verlTHH*/

--> ans:iQm.vr0;




